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Consider the followng statements and select your answer :
.  Reaprocal of Young's modulus 1s compressibility

[I. Reciprocal of viscosity 1s fluadity.
(A) Both I and Il are correct ,&BTIIFnlaehutllmrrect
(C) Iearrect but 1] false Both [ and Il incorrect

By arslluisdia og/oow sfunagy?

L ungarsgfar poady smes gamss

IL  urdwdlen gamalp unin sarsd

(A)  Twpgd [ Gras@n s (B | gaup syamd [] &M

(C) 1&f gama [l saup D) lopge [l QearBi peup

The colour of a star is an indication of its

(A) Distance from the sun (B) _ Luminosity
(C)  Distance from the earth ’jB( Temperature
plapdohien Hob miluug Sige

(A @fweldlmbgere gmw B) gefira

(C)  yuBuSall oy dren gamb (D)  GauuBlenea

Which of the following statements about Ramakrishna Parmahamsa true?

I.  He was born in 1736

Il.  His ongnal name was Gadahar Chattopadhaya

11I.  He undertook a tour from Kanyakumari to Kashmir

IV. His disciple was Swami Vivekananda

(A) TandIl (B) ITand I1I Jer’ land v (D) 1M and IV

@rrodmeyar Uroanbsmry Lhiu Egﬂﬂm_ amppsetich sflurenaey erepeu?

I Pt 17369 Sppgur

I Perg@ui@uurt s_rst s GLrumgwr

IL  Beut sewaflurgufuiicdmng srapbr sy uwamd Gedgm

IV, Beurg fi saurd SCasranpst

(A) 1 wpges 1 B g M © 1 wpgs IV D) I wpgod IV

of the following 18 correctly matched?
Madras Mahajana Sabha - 1881
(B) Bombay Presidency Association - 1771
(C) Bombay Association - 1785
(D) Poona Sarvajaniksabha - 1775

Epaser_auppe sfusa Qusmasou Gorag os?
(A) Guwilgwen wanse seny - 1BA1 (B) umdGu SrfQLad sCerafusd - 177]
(C) umbCu Conaflues - 1785 (D) e sraigells s -1775

3 CEGK 01
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5. The pie diagram illustrates how income was spent. The percentage of income spent on health
CAre 18

(A)  40% (B) 30% (C) 20% (Dy 10%
ameunil apend Gsig dewellabama a1 dlads o Sfé aiefassiu Hereng. Cpmi sHuuse
Qe aupeumi Deacllen apaisn syeng

(A) 40% ,ﬂ( 30% © 20% D) 10%
6.  Match List | with Last Il correctly and select your answer using the codes given below :
last 1 Last 11
(a) Light 1.  Traumatotropism
) Touch 2. Phototropism
(¢) Gravity 3. Thigmotropism
“{d) Wound 4. Geotropism
(a) (b) (©) (d)
’mf 2 3 1 4
(B) 3 2 4 1

(C) 2 3 4 |
(m 4 1 3 2
uCiguwid [ - enawr UL uie 1T o e sfuns Qurmss Spamd gildBaaflsn g e Od sfurar
uflena sam_g _
L g 1 L igags IT
(a) @& .
) O
@ yeimily
d smubd

(a) (b) {
3
2
3
1

B
%

m-—n—-n"ﬁ"

(A)
(B)
()
(D}

s D GO B
D e e
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The sum of all twa digit evenaumbers is
(A) 2475 ,@?‘ 2430 (C) 4906 (D) 1213
Slpan(p Baods eorm Bn el uan Sl ) oan SnaEs
(A) 2475 By 2430 {C) 4905 (D) 1215
Identify the missing number
7
11 §
9 4 6
3 6 2 8
(A) 18 (By 20 )BJ’/ 19 Dy 9
sEBULL e snams
T
11 8
9 q 6
3 G 2 ]
(A) 18 (B) 20 () 19 Dy 9@
Pick out the correct order of increasing melting points of the four metals,
(A) Tungsten < Silver < lron < Gold (B) Geold < Iron < Silver < Tungsten
ALy~ Silver < Gold < Iron < Tungsten (D) Gold < Silver < Tungsten < [ron
Epssam_ prang 2 Canshsdlie. o mefacsala sflure gp aflasis o amng ag? wg?
(A) Lo en < Jeuarall < @mdy < smmb (B} pusb<@miby< Sadefl < Liscodn
(C) Qawnefl < piumb < Gyby < s én (D) groab < Qeueirel < Ldssivian < @miby
Mateh the following :
Column A Column B

(a) White vitriol . CuSO, 5H,0
(b) Ol of vitriol 2. FeSO, TH,O0
(e} Blue vitral 3. HSO0,
(d) Green vitrol 4. ZnSO,-TH,0

(a) (b) () (d)
(A} 3 4 1 2

BT 4 3 1 2
(C) 1 2 3 4
(D 1 3 2 4
5 CEGK 01
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Gurmgss :
suflens A auflens B
(a) Cevsimeme afll fume L CuS0, -5H,0
(b  ereierDam S8 Meiad 2, FeS80,-TH,0
€ fod fum 3. H,80,
id} Lsae el Mwme 4 ZnS0,-TH,0
(a) (b} (e} (d)
(A) 3 4 1 2
(B) 4 3 1 2
{C} 1 2 3 4
(I 1 3 2 4
1. Corgl reefs are found in ————— latitudes
}.ﬂywnmms (BY 30°Nta0FS (Cy 30°Ntol5°5 D 15°Ntw3rs
vasenll ummpsdr ———————— i sCresde stamiu(pdpg
{A)  30° & apgéd 30° Qg aueny (B) 30° a opgd 0° Qg aueng
(C)  30° & gpair 15° G5 cueng (D) 15% a pged 30° O ausny

1Z. The world map in 490 B.C. was constructed by
(A) Pytheas Herodotus (C) Strabo D) Potelemy

eas asmpuLb £.ap. 480-0 wmprd e mandsiL L g7
(A)  eoufurd (B) GCapGprlimev  (C) ev grCGim D) CurCaGad

13. Which of the following is/are not included in the calculation of national income?
1. Income earned through illegal activities
II.  Income from productive activity
[Il. Capital gains or losses
IV. Unemployment allowance
,W" L, I and IV (B) MandIV (C) landIV (D) 1, Mand I

Qemeumeveraundid aameu Cafh ameimi sawsd Haufle Crrasluaufidon’?

L sl oymeinpp apeopulid oL Gu@ib aumeumd

I syislyrawne apepulon FLLLGW e md

Il gpaypen gsmunb sdag paslib

IV, CasnaSedsnw mlHuug

(A) IMoepgeIV  (B) wopgblV (C) 1wpgdIV M) I 1 whygb I
CEGK 01 6 A
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14.  Which code given below gives the correct matching of the following list of Mughals and places
of their tombs?

List [ List [1
ia) Babur 1. Kabul
(b) Humayun 2. Delhi
(c) Akbar 3.  Sikandara
(d) Jahangir 4.  Lahore
(e} Shah Jahan 5. Agra
(fh  Aurangazeb 6. Aurangabad
Codes !
(a) (b) {c} (d) (e) 0
(A) 1 d 2 51 (4] |
& 1 2 3 4 5 s
(W] 2 3 4 b (3] 1
(I} 2 4 3 1 5 6

£Cyp QarRasuud fdren Agnglysaiia aps Qargiy ppsanul wHpb Seuisald sommpsmas
siwurs Aunid sméng.

U igises | g 1
fa)  wmom 1. anya
(b} aoewTLE 2. Qs
(e) msuF 3. Asspggw
d) mgeaomhss 4 ansf
(e) agmmaTen 5. s
) qepisfl 6. gepusTUng
GiSGae :
(a) (b) (e) (d) (e) (B
(A) 1 3 2 5 6 1
(B) 1 2 3 4 5 #
(C) 2 3 4 6] 6 1
(D) 2 4 3 1 i} 6
15. Which is wrongly matched?

(A) 1950 - India became Republic
(B} 1946 —  Interim Government formed
(C) 1945 —  Atlee's Declaration
(D) 1935 —  Provinmal Autonomy
geupnes QUnmassansd san(Hiligssa -
(A) 1950 - [Epfun GeursTag
(B) 1946 - PeListe srs gHUBss ULy

ACT 1945 - gy diGa sfidiy
(D) 1935 - wnfle swmn &

A 7 CEGK 01
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16. lodiaisa
(A} developing economy

/ﬂ/ low income developing economy
{C) middle income developing economy

{m tm:icrdn veloped economy

@epur m

(A)  auanmd Aunmemgagd

(B) @epssamonmba aamn Curmanrgmb

(C) Gen Pewwren augoreniflés anmio umgamgyb
(D) Ganghbe Quagamgmm

17. The Second Five Year Plan strategy was to achieve the objective of self-sustained long-term
growth via mvestment 1n the

/ﬂ( heavy industries (B} machines
(C) lLighter industries (D) agriculture

Gram raugy ghsran® Ao jfe sideds. sa goppery dBdsto  adaoumw
awaridfleen ECp QerBasuu Hare genflenan. apsdlien aufluns Galg g és rudapmpeai
waETUDESS-

(A)  sewys Agmfdmdr B) @uprmad

C) Bos@updr dsmfias (D)  eieusmund

18.  Which of the following are correctly matched? !
I.  Padmasini Ammal - Khadha Movement
II. Anchalai Ammal - Neill Statue Satyagraha
[1I Manjubhashini — Non-Co-operation Movement
[V. Radhabai Subbarayan - Second Round Table Conference

(A) 1T, 1 and IV (B) 1,10 and IIl
(€ landIl ,:B)’Lumdw
CEGK 01 8 i
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Géaraumaumapnear #flurs QurmiSiuse dame?

l. usworseafl 2ubwmer - 557 GUSED

Il mgpsenm sqowner - b oo sEHursrsn

. wegsunélal - gsgapunamdugsh

IV, grgmumd slwogmoen — gy neug) e Guoens g

(A) I, 10, O wpmo IV (B) L Il wpmob M1
(Cy T w11 Dy L IT ooy IV

Match List [ with List IT and select the correct answer from the codes given below :

Last List I1
{a) Narasimhavarman | 1.  Rock-cut cave at Mamallapuram
{b) Sembiyan Mahadevi

[

Agasteshvara temple at Anangapur

{e) Lokamahadew: 3.  Virupaksha temple at Pattadakal
(d} Kulothungal 4.  Shiva temple at Chidambaram
Codes :
(a) (b) () (d)
(A) 2 3 4 1
(B) 4 1 2 3
(C) 3 4 1 2
/[P)/ 1 2 3 4

aflens I-o e auflens [-gevar’s Qunmsd) avflenssigna &9 GarBassoul Haer Qengodldlmbe
sfwime eflem_udeneng Ggfley Qang -

auflens | awfles 11

(a) apgewmb FrAbOE T l. @Leaens Carelld, wrodaymbd
(b) QeEdSwer warGsall 2. ssgdavaunt Cardd, snenianyi
(¢} GCarswsrCsell 3. almursd Gambid, ulL sad
(d) apgend @Gan gk sen 4. Feusn Gamull, Agbumb
GRS HaeT

(a) {b) () {d}
(A) 2 3 1 1
B 4 1 2 3
(C) 3 | 1 2
(D) 1 2 3 4

] CEGK 01
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Which one of the following statement about the Indian Election Commission is/are

INCORRECT?

[ Election Commission is created by an Act of Parliament.

[l. Election Commission is a constitutional body,

[1I. Election Commission rejects the nomination paper of the candidate if the nomination
paper is delivered by a proposer.

[V. Election Commission has the power to deal with matters connected with the removal of
the President.

(4A) Iand III only (Bl 1II and III only
{C) III and IV only [ and IV only

Eindw Carrd spevamund uplu Epssam  Qarp@pm rsafla e/ ame sar saimramaal?

[. Gaigd apeemul, ummamoap s sHemd ghuBissin L ey,

II. Caigé spenemund aemigy i fFluaenlifanms e merssiul L e

III. Geisgém Povafia daramiu grafmea, gatomfuat etard wigy HmD U sHd
Siganen Gaige pemasmuh nig ey,

IV. gamfuddene fageaug dar_muren dleusmiseid Carpd seamusdie Sisnmbd e (.

(A) T opgo I wl@o (B) I wpgo T w Hio

(C) I wims [V wl G D) 1 opye [V el Ho

Which one of the following was the predecessor of CBIZ2
(A} Central Intelligence Agency Delhi Special Police Establishment
(C) Central Investigation Agency (D) Crime Investigation Department

Yereumuencuselias ahs @enp wiflu yaamiey Bnaenifins, wpenGeang Lineng)?
(A)  viHu pewenriley wpenseno (B) Sadl Apoy sraud Hipaend
(C)  wafluywermiey penseno (D) @moD yoermiay gen

The dotted area in the given Africa map represents which type of vegetation?

Desert scrub
Savanna
Equatorial forests
Mangrove forests

A 1 /mfm © I O IV

=ge -
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WerRésli Barar g iflsan weemu Fhd getefl G L ugdl aps aesunE Fubes

gramzaga @ flafng?
EE J

L ueems plusi

.  seunam

L yesPuCros srfpsd

IV, sgifle srsea

(Ay 1 (By Ml (C) 1 m v

23. The process of removing. lifting and blowing away dry and loose particles of sands and dust is

calleq as
Deflation (B) Erosion (C) Oxidation (D) Carbonation
suparr_ wpgno e A wawd whgd g8 Conampubap Fisugd sbag Sapap gl aaagn
canpenpssiLBdpg
(A) ueo 58shEsa  (B) flggd C) ysadlsyamb D) aniuamisdn

24. Arrange the states of India in ascending order on the basis of percentage of forest area to total
geographical area.

(A) Goa - Punjab — Meghalaya - Mizoram

Punjab — Goa — Meghalava - Mizoram
(C) Goa - Pumab — Mizoram - Meghalaya
(D) Punjab — Goa — Mizoram — Meghalaya

Qurgs upuuaella snLE LgHurer ssddgses Bwlum wrs deran(d @ifu wiBoksen
gpaufiaslid sHéms.

(A) Camam - ugser - Gusrawr - ACsrymb
(B) uspen - Careun - Cuosrawn - ACsrymp
(C) Cameur - Lygsems - AGsmymb - Cosrawn
(D) Lugxsmy - Gameun - WGFmImD - Costaun

A 11 CEGK 01
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25"  [dentify the missing number

65| 9

14| 4

18 | 10

28| 8B

36 | 20

EE L
(A) 18 (B) 46 }e( 16 o 17
UL eaw sTaRs

5| 9

14 | 4

18 | 10

28 | 8

36 | 20

56 | ?
(A) 15 (B) 46 C) 16 Dy 17

26. The accuracy and consistency of data can be verified by

(A) Internal checking (B) External checking
Serutiny (D) Both (A) and (B)

dargden giddiu wpg e pifas sfdudan Brdsss snLs smyug

(A)  ssaans sflunigsa (B) uypsiens silLimiggd

©)  apbs Companen D) (A) opgd (B) @ranGid

27. The following data relate to the marks of a group of students
Marks - <10 <20 <30 <40 <350
No. of Students : L5 38 65 84 100

How many students got marks more than 307

(A) 65 B) 50 A 35 (D) 43
@i 3fley wranaissien wHiQuanr ACp QarPasiiu P,
S Qs : <0 <20 <30 <40 <50

wranaisefida carafizas : 15 38 65 84 100
agpenen whewranrss 30-&@ Cud nf0duas aBuurisar?
(A) 65 By 50 (C) 35 D)y 43

CEGK 01 12 A
Auhippo.com



Auhippo.com

2Z8.  Which one of the following phenomenon means “aequisition of the abality to flower by chilling

treatment™?
(A) Photopenodism (B) Epinasty
Vernalization {Ih Dormancy

“melmns  (PaLuw gesena) Adims ppan  LOMHELIESUUGKD oMy glem Oubiss”

aaardaen afluuufBang?
(A geflsnaggenn (B miamsos
(C)  Quurarsnaiaysan (D) cuerreu s&b

29. Consider the following statements :
[ Oxygen 18 not required for glycolysis
[I. "CO, i released during glycolysis
Which one of the statemonte piven above 18/are wrong”

{A) BothlandIl {B) lonly
)Q"“l] only (DY Nether ] ner I
Spisan_ cunsduismen sauafll .

L dAewrgrdfico Bapeifnm S sciima Caameudidand
[I. Aeasdfd fspaa CO,; GawfiGumyb

CuoGev GamBssiun (eren s surs b [cunsdhud sar geumy?
A [ obgo 1T @reeie {(B) T @up
(C) [ (b (1) I PETESTIE ||

30. Consider the following statements and choose the correct answer from the ophions given
below :

There are no special organs of excretion in plants because ;
[.  Plant use all the substances that enter their body completely
II. Plants break down substances very slowly when compared to animals
[11. Waste products are stored in leaves that fall off
IV. Waste products are exuded in the form of resins, saps and latexes
(A) s correct and Il and |11 are wrong
{B) | and Il are correct and IIl and [V are wrong
{C) 11 and III are correct and | and [V are wrong
BT Tis wrong and I1 - IV are correct

A 13 CEGK 01
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Wgmmib iflsmssma HCanflsgy Epsangpl dilwsafldimtg sfunen gananps Cairey Gads
provyselid sflejswas s fas flpuy o mun s Gaome gt

L graplss ghsa pLgésen Bepun Somigl CGuimlsmmyd  pgEwUNEl
L (R4 &l ammen

. daugstan( eldBamsdo praugise s dngarstu dunn seas fAmgsdapen

L sflew Quimsa Boasalids Gadlssiulh e dissiu@dapen

V. afiaps Gusmiad S, grag eulrssry ohpo wrours gbdu amsselld GadCupdng
Beasafia

(A} 1aflwpmo 1 wipe [ geun (B) [ wpgu [1 & wpgen 1L edgub [V gaugp
(© 1 wppidIIT afl wigd 1 ohgsd IV san D) 1 geuy wiges [1 - IV ol

31. Match List ] correctly with List [1 and select your answer using the codes given below -
List 1 Last [T

(a) Jacob and Monad 1. Chromosome
(b) Beadle and Tautum 2.  Gepetic code
(c) Waldeyer 3. Operon concept
(d) Nirenberg 4 One gene - one enzyme concept
(a) (b) (c) (d}
w 2 1 3 4
(B) 1 2 4 3
)C( a 4 1 2
D) 1 3 2 4

s ulgu@auh. Frantagy Ulgwesuysh @il . dpssar. Garpulds geoamCur(
sflwren e mu safissaud :

Wb ] s
(a) CgCsm wpgn Guran( 1. gGgrluwaCsmb
(b) i wpgd Lm id 2 wous gduil
(¢) andliwd 3. gumma Gam_un(p
(d) Bodnuirs 4 o e - oo aaaad Car_un(
@ & @ @
(A) 2 1 3 1
B 1 2 4 3
() 3 1 1 2
(M 1 3 2 1
CEGK 01 14 A
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32 Kamesh 18 taller than Raj but not as tall as Somesh. Somesh is shorter than Rajeev who is
not tall as Subash. Who 1s in the middle when they are arranged according o their heights?

{A) Kamesh (B} Ra ({C)  Rajeev /hB( Somesh

g ew i srevey cwiesaat eand Ganods Curdig wwfon e pdan lﬂﬂm el
CamCiody @eatemonaral e e aunaapeti e wfuwnaud b srafid. safsme augiug
Pnpard pHas Gatant

(A) &nCioas By ang (C)  qegfes (D) GanGuen

33. The length of a rectangle 1s inereased by 10% and 118 breadth 1s decreased by 10%. The area of
the new rectangle

{A) remains same (B) iz inerenred by 1%

(C) s decreased by 10% BT is decreased by 1%
S Aediausgfean fonn 10% sfafiesiuRdng wopd spa ssow 10% gapssuupdng aefa.
ufu Qedieusgflan LTOumey

(A)  wapn el (B) 1% sflaflimn
(C) 10% meomuww (D) 1% @enpijd

34. Whach of the figure given in response section completes the following figure?

T i

il

R

AN oM 0 °F

cilep LuESdila QenREsdun Harer el ib s mid UL SHnS (D {@UILTASED

INREY

L

IARER
w 1] ® || o |1l o |-

A 15 CEGK 01
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Who is the Chaurman of Indian planning Commission®

)!"Dr Manmohan Singh {B) Dr. Moatek Singh Ahluwalia
Dr. M.5. Swaminathan (D) Prof DP. Agarwal

P mpeblan gaeut wan?

(A)  Dr. nanGonsen S (B) Dr. wrenG & & ssgrasndio:r

() Dr. b e, seundip gen (D Cugng 8 ssreurdd

36. Which of the following Indian won the Nobel Prize in 2009°
(A) S.Chandrasekar {By Mother Tercsa
(C) Amartya Sen /an” Venkatraman Ramakrishnan

Aaramuameadmedr 2009 Apsran Cpmud ufles Qandm QESur wir?
(A)  ao spfloCasi (B) wgs Ampan
(C) swrSur Gea (D) Qe rmodr gprodmegensn

37. Which of the following statements about Tndia's External Debt’, as on September 2012 end, 18
TRUE?

I India’s External debt stood at § 365.3 hillion

I  Itis up by § 20 billion over the level of March 2012

(A) Tis TRUE but II is FALSE (B) II alone TRUE
(C) 1alone TRUE )Bﬂ‘landIImTRUE

2012 @sulbul gpacid odeny @ifurda Gadfisnip aid upflu daumd g oF
Filwneng?

L @idurdda Quafipm () sid § 365.3 (billion) G

[l wni#2012 e el § 20 (billion) GebeBluen Bas_n ifsfgmdras

(A) [l gamd ] paug (B) I G &
€ Lol HGw =l (D) [ wpmo I1s8
CEGK 01 16 A

Auhippo.com



Auhippo.com

38  Match the following ;

39.

{a) Reliance Group L. Waorld's largest emplover

by Indian Railways 2. The largest nutural gas marketing
company

{c) GAIL 3.  Maximum number of branches

{d) State Bank of India 14 Maximum number of share holders in
the world

(a) {b) (c) {(d}
/A‘r’ 4 1 2 3

(B) 1 Z 3 4

i) 2 d 1 1

(D) 3 1 | 2

Guinmggs

(a) Maneowsengd punh 1. eefédslOuflu Camag smuant

by  @Eedudn GrdaGaa 2. WsuGuiiu @upes aimy sbaogudEhb
=Ll

i) GAIL 3. asdsuls devensdn

d)  umg bl cund 1 eofiGaGu sifisus ukpsmisda

(a) (bl ey 1d)

(A) 94 1 2 3

(B} 1 4 3 4

{C) 2 3 4 1

(D) 3 4 | 2

Which of the following statements about ‘Maoist kidnaps of 2012' are TRUE?
I.  The collector Alex Paul Menon's Kidnap at Chhattisgarh

[I. The kidnapping of ltalian tounsts at Onssa

(A} 118 True but 1 15 False (B} 11is False but Il is True
}B/BuLh!nndllareTme (D} DBoth ] and Il are False

wGamdvgdn 201 2 parer &S5 FOURSONE Deanaumb mppaafia agy M7

L s wavafld wran. 0 Mo sQaden wnd o s g

Il gflenda Gagnmdiu sppor vuafur s s

(A) T oM gpanrds 11 geugy B)  Ipeup spere 11 A
(Cy I wpgod 11sd D) 1 whgo Il pegy

17 CEGK 01

Auhippo.com [Turn over



Auhippo.com

40. Choosze the correct match |

(a} Nylon 1. Polvamide
(b} Thermacal 2. Polyicoprene
ic) Teflon 3. Dolytetra Auoroethylene
(d) Natural Rubber 4. Polystyrene
{a) {b) {e) {d)
(A) 1 2 3 1
(B) 1 4 3 z
() 4 3 2 1
(D) 3 1 3 4
sflwnar Bearaus sa e
(8} snmevmen . unai yanwn(@
(b} GemoCsna 2. undd mGemiflen
(e} Builiwrd 3. wrd Qular GCGarrCGor e gfleban
(d} Bubes oo 1.  urdl sven_feaw
(a) {b) (ch {d)

(A) 1 : 3 1

.-EB( 1 4 3 2
(C) q 3 2 1
(1)) 3 1 2 4

41. One among the following 1onie carbide compounds 18 a acetylide

{A) Calcium carbide (B)" Aluvminium carbide
(C) Magnesium carbide (D1 Berylhum carbide

Eipsgain. swed smeou Haaild qern 8 g maf Sig ag?
,ﬁﬂ?:r‘m'wﬂm D IR (B) sgmSafiuun smiepu
(C) Quiaifuub srrenu( (D) Quilehunh saiamull

42. Match List I and List II correctly and select your answer using the codes given below

List | List 11
(a} Seismograph 1. instrument for recording thunder and
lightning
(b} Lactometer 2. inside the brain record
elecirical activity of neurons
(¢} Encephalogram 3. measure the intensity of earthquake
(d) Cerauncgraph 4.  measure purity of milk
{a) {h) () (d)
/ﬂ( 3 1 2 1
(B) 3 4 1 2
() 1 3 4 2
@ 3 1 2 1
CEGK 01 18 A
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g | eren uigwa Idems sflurs Quamsd £0p CsrBesiul Heaer sddisama
vueuBéd eangy elan e CaipGsd

Ul g | uC g w1
{a) QeweuCordnu L. @y cpmpuh Sdaedaa uba Qawiank
s(wet]
(b) an&Coimdiin 2. ppevendd et By rrarseiian
Gswaa uflay daliub smes
(€) earfurCandgmo 3. dasBass Jeflac sared Hdlpg
(d} GarZeamdgm’ 4 urdleén griemsma sl Qdpg

(A) 3 i 2 1
(B) 3 4 1 2
(€) 1 3 4 2
(D) 3 1 2 4

The graph which represents the vanation of total energy E with time t during one cycle in a
simple harmonic motion is

E4 E4
@) m N\ [

T
E"" Ei'l.

wefhu s Qudad gadd g spfld 't agud Corgampl Curpdy Curss sppd E Capuiin
aiggPanens am G ewenuiid

E E4
(A) (B)
[/\ \\/{ &
|
E E]
© [/\ R
> 1
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44.  Find the ndd one out about Dadabhas Naorop

(A) East India Associalion (B} Voice of India
()  Grand old man of India {0} Kesari
Spdanamumeuppen sogmmi paGonglu e dunmegedomss sl Ba
(A Sy Bidud s (B)  @aSunellen pyb
() @adursien pHELmb pEoaT a1 Gash

45. A company earns a gross profit of ¢ 75 ¢r pays a tax of ¥ 15 cr o the government, pays a
dividend of T 45 cr to 118 shareholders. The percentage of retained profit 1s
(A)  30% By  40% (C)y 30% (D) 20%

it gogmuemb T T3 Camg Quongs wouw mixugy sifld afl T 15 Camy ssmiagBog CQogadug

WwhHpb LkiEsnrE Mgsss Glam me) T 45 Camny apdidlug asfla, lpsd maggde Bomn sgaign
(A} 60% (B) 40% Yy 30% 20%

46. The data gives a break up of diseases recorded in patients inspected in an health centre

[hseases : Diabetes Obesity High Blood Pressure Others
No of Persons : 120 36 44 40
The percentage of patients having obesity is
A 36% (B) 44% ﬂ/ 15% (D) 10%
Gy rofl Qe Cam Aangay uyfhu slamiad pamougferrd urfmand g Gar{éstu Heras
Gpmi. Brfey Qenopiuishg ouPs Qops sughpd B0
puisei aavafléas 120 36 44 40
Qar i shey s Cemunehlan sgelionang
(A} 36% By  H% (C) 15% (Dy 10%

47. Range 18 not a reliable measure of variation because
(A) Range s easy to calculate
(B} Range cannot be negauve
(C} _ Range ignores 50% of data
’P’/ Range considers only two observations

alibo pidiboms spp Save) wagun(} g adapre
(A)  elberang cefific sanid i s g

(B)  diss afinoap arg

(C)  50% spells shleupiise gefindgib

(D) cssrang Goeint) sein_Hips soeu ol Gid ABHD

CEGK 01 20 A
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48.  Which ane of the following 15 used in the working of speedometers in automobiles?

49.

s} Direct current ,&B‘J‘! Eddy current
{C) Wattless current (D}  Thermoelectric current

Gun_ Lm srservsafi edaer Couspneflsd £05p spiule ops gafloey vudulsd
e dlanpen?

(A)  Guidens Slenlenm_in (B) sy faCam_ 1o
{C) Bmen Fpindan SearCam o (D Qauiw BerCanm 1 i

Consider the following statements and choose the correct answer from the options that follow.

I Viscosuty of blood determines the peripheral resistance of blood flow through the blood
veasels

II.  Viscosity 1s not which 18 associated with blood pressure
{A) Both statements ] and 1l are correct
(B) Both statements | and I1 are incorrect
’bﬂ” Statement | i1s correct but 11 is incorrect
(D) Statement I 1s incorreet but [ is correct
EpararUcuhifle sfuremadan Dsfa; Cads
L @ubs provissellan @rds goiifer vdsani( sifir soLss Grphe GsdsiGemer

Hiramd ddldnpen
.  @Eess sgsssfaa gl Hid HFaa Hrandssdldan
(A) | wipmps [ spgy A (B) | womi I sapm seum
(C) [ s & 1 gaugy (D [ =ppsap L] af

The food for work programme was restructured and renamed in October 1980 as
(A} Rural Landless Employment Guarantee Programme
(B} Jawahar Rozgar Yojana
National Rural Employment Programme
(DM Nune of these
cameds GCaoa fw wpfuecssiol®, H&Comur  1980dmes  Seamonp
opssiuBdog
(A} &gmous Bawdp Gausaaiminiy e ghrans S i
{B} geusi Congd Cungenn
{C) Caflw dymouiyp Gevema avmuy b
(D) Bfeageb @damn

21 CEGK 01
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Which of the following is wrongly matched?

I Peshwa - The Prime Minister

[. Sara:Nubat - Senapati

[II. Pandit Raa — Minister for religious affairs
IV. Nayayadish — Finance Minister

Auhippo.com

A 1 B 1N cy 1 ,;m/w

Spsem_apge goprs dummggou Davag ag?

. Cuesen - Gygo wpdf

. srgopaop— Comnfud

I vemgl gres - swwgap 2emoss

IV, Bumu §ssq — B8 senast

(A 1 B I (© Mm ) (D)

v

Chandra Gupta Il was the first Gupta King to 1ssue silver coins which were modelled on the

coins of ;
(A) Indo-Greek Kings (B) King Vikrama Ujjan

Jﬂ'l/ Saka Western Satrapas (I Roman Coins of Augustus

®ls sgsisais Qoam mb spfrsost pgapgans Dasrafl pramudisaman
patse unaidlia Geuafluih L mi

(A) @pCsn-ACréa speraar

(B) = fipmuidn smi clldgoe

(C) Cupagh sra sfrlumssda

(D) sssoLdh Qauafiud. . Cymoraflu preanymisd

Who authored ‘Karunamithra Saagaram’ the book about music?

(A) Vipulananda Adigal By Abraham Pandithar
(C) Thiyagarmar (I} Muthuswamy Diksithar
‘wmenmiiig snapn’ adgyb Bas prdlaman Bupdivat wimr?

() enanps snassn (B) aySyamd Lo, p

(C)  Swnsgrgi D) appgemd fLigh

CEGK 01 22
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Which of the following annual session of the Indian National Congress was not held n
Madras?

(A} 1887 session (B) 1895 session (C) 1898 session )E( 1920 session

pssam_aupper aps pdmgd Gedu Cedu smudlcfler amompdy wepn  Deeremanulas
e Blumailaema?

(Al 1887 s (B} 1B%5smiLuw (C) 1898 & (D) 1920& b

The target for average GDP per year in the Eleventh Five Year Plan was
(A) 6 percent (B) 7 percent (C) 3 percent 49 percent

-gam gpsranh S sda, smefl Gorss GCaflu 2 fusdl aGans semsgd ais ol SssHd
Em&Eb aermy Elesg Hlfamdlesin L g?
{A) 6 spelign (B} 7 aseligin (C) Begelmn (D} 9 sgalign

When was targeted Public Distribution System introduced?
A) 1977 (B) 1987 )@f 1997 (D) 2007

Gk earan Gurg Ldiey npenp TES Sanf Qem misiul L 57
(A) 1977 (By 1587 (C) 1997 Ty 2007

In India. 1n 2008, active population engaged 1n agriculture was
{A) 45 percent (B} 47 percent ; 58 percent {[}) &8 percent

Endlwnelid, 2008- b syebngd elesnusda rHuld auis Gaudl s nesaflan sgels
(A) 45% By 47% (C} 58% (Iy 88%

Ihfferent varieties of cement are produced as per the specifications of
{(A) Indian Standard Institute (IS1) /‘B( Bureau of Indian Standard (BIS)
{C)  Food Corporation of India (FCI) (DY None of the above

v Geumeilgnmer AQwam_rang Gsar @by safian anfurs o pusd Baluiubdng
(A)  @pAw g7 Bremu spsn (150) By @ifw 515 g (BIS)
(C) @pdu o ey spsin (FCT) (D) CuopGsnden ageyn Siwe

23 CEGK 01

[Turn over

Auhippo.com



6o,

61.

Auhippo.com

Who among the following is the sole representative of the state government n the distriet?
(&) Chairman of Zilla Parishad

(B)  Member of parliament from the Distriet

(CY  Divisional Commissioner

’Df District Collector

Spsaneu s wrt wil & sremussdd e Grdfduns vra L sfd Rimsdp?
(A} piidaruflaysdia gamameu

(B)  subiomes Lgmal GrBfdsgead Sauuyn unmawen e g oSar

(C) Cem_L syenemnumani

(L) o oyt S

Consider the following statements in respect of provisions as to financial emergency :

I. A proclamation of Anancial emergency has to be laid before each House of Parliament.

Il. A proclamation of financial emergency ceases to operate at the expary of six months,
unless before the expiry of that period it has been approved by resolutions of both
Houses of Parlinment.

Which of the statements given above 18/are correct?

T Lonly (B) Il only

(C) Both]and]l {D) Neither | nor 1

B8 Qpmiss. Poa gPiy ICp OsnPiacl Girm emplpn_ismer mimoursk saalig ThHE

Qenplipm_i| s} sfiureee awd gfoShs -

L. §f Gpmésy Beads Srs ans unmrgsoapide o seawsefign suiitlasiu. CasnFio.

Il sasSym_amb ummgmoapiSea Gm soascfignd § o ssagdoed gl Gupeiidaeidiuas
s @ Bgsous S Upmsss foa pqade apy o

(A Dol @b B I o Gk

() 1wpp Il ol i (D) 1 opgw [I-b paupraea

When the problem of corruption in public services assumed serious dimensions, the
Government of India appointed a mgh power committee under the chairmanship of

L K. Santhanam

A. Ayyvangar
II. P.V. Subbiah

"~ IV. K Hanumanthaiya

@ 1 @ IV ,(.ef'l o) I

CEGK 01 24 A
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spai naflaafla enpa sbupsliug L Gresmensd o ss sl L e Faoaic, GhSw siganmisgsra
SDuBSEUULL 2 whnl L& @ipeilan senavaun

I.  CGs spgnand

I & sowkani

. &6l s

V. Cs apguujeasun

(& 1 B v () 1 (y W
Match Last [ with List I1 and select answer using the codes given below the lists .
List 1 List [1
{a) Executive 1. Serutinizes the account
(b) Lemslature 2. lmplement policy
{c) Finance mmstry 3. Grants funds
(d) Audit department 4.  Controls the expenditure of funds
6. Mpuintains aceounts
Codes :
(n) (b} (<) (d)
7 3 4 ]
(B) 3 4 5 2
() b 2 4 3
(D) 2 3 1 4

auflens -2 e aufias |l-alman) urmsd afimsswmis £ Garfasuu Gee Gsnslddmhs
sfhumen aflan oSenang Qs Deuis -

auflens | auftens 11
(a} Geswe gy 1. semig s sfiumgsd
(b} =L ge 2. Qandtens QrnduDgse
© 58 oo 3. Plagpuse
(d) safidmag Han 4.  £f Usadamusas sLHUUGHSE
@ HuiGHaar
(a) (b) (ch {d)
(A) 2 3 4 ]
(B 3 4 5] 2
(€ 5 2 1 3
(D} 2 3 1 1
25 CEGK 01
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63. Consmder the following statements

I, Modems comes in several forms including small stand-alone units, plug in circuit boards
and microelectronic modem chips.

II. Modem distributes the messages coming from the CP1J to the appropriate terminal

{A) 1and Il are correct ﬁ/[alunemmrmct
(C) 1l mlone 18 correct Both I and 11 are not correct
Epssan. wrsdludsmar seuafl -

[. Pevsllsa §fusafll fpso vgdad, augs Bow sapodaflo vamasdr ooy pam Heaagy
Bersd aa valay engauksalid apgdaa

Il  pgerssissr CPU-ddimps ssadsmar siuran Qo mowgdpel Sfssefadng.

(A} 1 wpgs 11 ## (B) T wlfn s
(€)1 o 6 D) 1wpgo ll gaup
64 Which of the following statements are not true about a high-level programming language?
I.  Machine dependent
II.  Error prone
L.  Dafficult to modify
IV. Easy to understand and use
(A) IV, I, 11 ,[B‘l/l,l]_[[[ © IV.IL1 ™ V.1
Qsrpésiuifior psasels ap B papray cdp “suifles  QuaGurged”
sam (5 9y Ssayb?
[.  zefilQueleow srifpssy
[ @opsen (=) Gapsme an_Lig
M, Bsap syansteng daypame soarag
IV. dsa eeflug wpgb vusuipas
(Ay IV, I, 11 B LI © IVILI M W.IOLI
65. Consider the following statement :
I.  Information is raw facts that describes a particular phenomenon.
II. Information is simply data that have a particular meaning within a specific context.
(A) 1and Il are true ‘ﬂj/lmfalaehut]]iatrm
(C) 11is true but I 1s false (D) Both [ and II are false
CEGK 01 26 A
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Epasein L wnidlumiaman sl :

L ssadaaugy g edude L Buwogas oflaflsgn uamin sreay.

I gsed caug g mfiudlc Bepedlbio sflunan Qurmesaw gim srey.
(A) [ g I ol (B) [ geugy ayenm [T of
(0 1 ofl peran [T geugy (D) 1o 1T sag

From a "hot spot” the WIF] connection can be made up to about
’Q(/ 300 feet (B) 30 feet (C) 100 feet {D) 200 feet

Gewseh enwowdHallmbey WIF] Gevan iy aggenan giob dnemowan?
(A) 300 sigmet (B) 30 sigaeh (C) 100 sigsen (D 200 sugsar

The data structure works under the principle of LIFO is
(A) Queue /‘3/ Stack (C) Tree (D} Last

dpasam_data structure-o ag LIFO ams@d Caema Cowub?
(A) Queue (B) Stack (C) Tree (D) Last

Under the provision of which Article of the Constitution, the Goyernment of India introduced
Bharat Ratna and Padmashr awards?

(A)  Article 14 (B} Article 16 }?)/Amah 18 (D)  Article 21

Bidu swfusaciy sl jde abs sida aquuecde G@dy sremlsd urrg e, Lk T
dimpgsoa 2 Farsdug?
(A) sss 14 (B) =755 16 (C) supg 18 D) srap 2l

Whach of the following is true about Central Vigilance Commission?
[ Recommended by the Santhanam Committee on Prevention of Corruption - 1964
[0. Itis an advisory body.

[1I. It does not posses its own investigating agency
{A) Ionly (B) Il only (C) 1and Il only Pm 1T and 111

27 CEGK 01

Auhippo.com e



70.

Auhippo.com

Saaimamapnd s Gap OsHu sasd  sdnsteflly s eenugas Hduipds  wenp
£ S0 L 601 gy 7

I 1964-D esper guilLSInsTer SHETED G il ey

1L s pm e Corsamar syaning

Ol sendllacny Sengps yeamie Senoy Sldaa

(A) 1wl By I wi @i (Cy  1wpgo I w o (DY 1 1T opgeo L

Which one of the following 15 the correct ascending order of the admimstrative levels in a
State?

(A) Secretariat — Directorate — Division — District
(B) Directorate — Secretariat — Division — District
(C)  Secretariat — Dinision — District — Directorate

)Df Division — District - Directorate — Secretariat

wrflagda e Hicuns nl 1 fiseficn aflurer gneaufias ag?
(A)  LDsuean - BluAgEran - GEmLih - wheul L
(B) @Quesprsn - dsuwsn - Gam L b - wra L b
(C)  Qsweosn - Caml b — wieu 1 16— Fuismprsn
(D) Gamiiib— wran b - Qussprss - deumsn

71.  Who iz called as the father oflocal Government in India?
(A) Lord Lee Lord Ripon {C) Lord MaCaulay (D) Lord Atlee
Eieduwrefla o ararm’_# aipsrisgflen soeng e epasiuHuaF wri?
(A) &9y (B) Moueh Gy (C)  wnésbe Sy (D) = el Ty
72.  Which of the following is not a type of Municipal Personnel System in Indian States?
(A) Separate Personnel System {B) Unified Personnel System
() Integrated Personnel System ‘,(35/ Developed Personnel System
Aénanheuaneufind oy B hHureilgaren wiflodsafld Gdang sarm 8l efiunant ppapens aiens?
(A  pefiuulL vefiurenit npenmenn {B) gmdss uaflurant gpepeno
(C) emuisanss Lafiurent panaew (D) Cubu@ssuul L vesfiurant pennenn
73. Which law is the by-product of the growing socio-economic functions of the state, increasad
power of the Government and the adoption of welfare state concept?
(A) Ciwvil Law (By Criminal Law
(C) Private Law (" Administrative Law
2i7fleh euemihs D Faps - Gunmamgny uaflsd, sgams sflsmmd sfsfioy HpD Fups po
=i7s derdiens qipa; s fuapdla sryamons n_,@mnﬂm s h wng?
(A) Gy s LD (B) mipefwe s b
(C)  saflurs sl b (D) Bireunas s iib
CEGK 01 28 ' A
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The most common form of diagrammatic representation of a grouped frequency distribution is
(A) Ogive ,ﬂ’ Histogram
{C) Frequency polygon (13} None
2l Gurrymnu suenrefl anssdflan mann ﬂs@rﬂﬂuﬂh LISy
(A) e Hlagp eueny (B} Qedveuss Lib
(C) PapLaen vaCsremb (D) egapflama
Find the number of observations between 250 and 300 from the following data
Value: - =200 =250 =300 =350
No. of Observations : 56 38 15 0
(A) 56 o © 15 O 8
ACy v aner lagiisenie, 250 opge 300 as, Be Gu e saw_ Bl ufey o sinwdflbms srans
oy : >200 =250 >300 =350
T T 6T S ab 48 15 0
(A) 56 By 23 (€ 15 M) 8
The mode can be obtained graphically from
(A) Ogive {B) Frequency Polygon
)GT, Histogram (D} None may be used
ahs ausnquL ldn apet apadn & sein (g daawns?
(A)  auem Bimpaiay (B) BspCasn uaCaramb
{C)  Lreud Qsdueusss L ih (1) @Eeapper agan vwsm 1g

77, The most switable diagram to show the partition of a total into component parts is

(A) Line diagram (B} Simple bar diagram
}9)" Pie diagram (D) Multiple bar diagram
g ueSdean Qungsdms smpsena Sflsmb Gung, Qe sG6H silanssn b
(A) Cam (i B)  eeflu eflarésiing i
) alL dmssiun D) uveule dladsiub
29 CEGK 01
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If a set S has n elements, then the number of non-em pty proper subsetsof S is
@ 2 ® © 2 -1 o -2

S edp said n e giysean’ Jup@mGen, S-da Gabnip S o Csenmisaficn ranafiiams
@ 2 B €y 2°-1 i -2

A zum of money invested in compound interest amounts to Rs. 800 1n 3 yvears and to Rs. 840 1n
4 years. The rate of interest per annum is

(A 21% (B) 4% )e_(s% D) 6%

om BETams sl wlgla 3 am sgda m 800 msan. 4 ampLsPo @ 840 sysaib 2 widipgy
srafl, Gy sumgdiu tuiy ag
A 24% (B) 4% (C) 5% M 6%

An express train travelled at an average speed of 100 km/hr stopping for 3 minutes after every
75 km. How long did it take to reach its destination 600 km from the starting point

() 6 hrs 24 min (B) 6 hrs 27 min /(zj’ﬁhuzlmm (D) 6 hrs 30 min

am dlare awang 100 4.8 jwafl syrefl Casig d, paGarm 75 &b dgd 3 Bl b fap
vualsfpg. youu@n S gfd Besg 600 .5 gmade warer Fgms e aemey Canb
aBig?

(A) 6 wafl 24 (B) 6uwef 274 (C) Guaf2lf (D) 6 wanfl 30 §

Pipes A and B can fill a tank in 5 hours and 6 hours respectively. Pipe C can empty it In
12 hours. If all the three pipes are open together then the tank will be filled in

13 & ] 1
1— hrs - ﬂ(ﬂ—- = hrs
(A) T (B) 2“ hrs T hrs (o 4 3

A B @prise o Ganiymu wogGu 5 o Gprb. 6 wah Gprsso Srivlae. gpn
C sig@sn geu 12 wefl Cpogfie srdl Qridog. 3 symnisemn, 07 Cergfa Bpisinn | b,
Qsm g figoyd Cembd

13 8

() 17 o Gprid B) 2 waf Opi

© 3% coalh Cpyd (D) 4%@%@
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82 If a* 18 a positive odd integer then which one of the following is not odd?

(A) n's+atsnt B n+n*sn’:n’

(C) n+n®+n’ D) nentondsntint

n* gm Ses gpaniva gy adn aafa enaumaianapIeT 15 GOED Y TR SR

(&) n*+n'+n® /ﬁ/ n+nt+n? +nt

(C) n+nsnt M nsn*sn®+nteal

83. Which of the following numbers is exactly divisible by 937
{A) 135792 /Lm, 114345 (C) 913464 . (D) 3572404

Gemeugpld erarsefia ergy 99-aui Bpland aumuBw?
(A) 135792 (B) 114345 (C) 913464 (D) 3572404

84. Find the odd man out in the series :
4,5 7 10, 14, 18 25 32

/u{ 18 ® 1 © 14 D) 32

S eneumid Tamsafi paflss oanmearns Sra.
4517 10, 14, 18 25 32
(A) 18 B) 7T () 14 Dy 32

85. A and B can together do a piece of work in 30 days. B alone can do it in 40 days. A alone can
doitin

(A) 100 days ,GB/ 140 days

(C) 120days (D) 180 days

A L CEGK 01
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Aujb Buyir Coisy g Cavenavany 30 sm_safler Qedie B w (i swerCaunaann: 40 grafla) Gla et

erafien, A o (b sweklaimemy azsaen prefld Qeuaim?
(A) 100 pm s (B) 140 paaen
(C) 120 primenr (D) 180 pm san

86. Consider the following statements :
M.K Gandhi attended
I the First Round Tahle Conference only
II. the Second Round Table Conference only
I11. the First and Second Round Table Conferences
IV. all the three Round Table Conferences

Of these

(A) I alone is correct (By I alone is correct
)ﬂl [11 alone s correct (D) IV alone is correct

Seneub safeon apyris

airpflug.se

L opu L Coms wrpm igd wl (b sepg Qarem .

IL  Eesn mban s Cibens wepm g wd (i sy &ensin n.

Ul apsed wpph Gysremo e’ L Guwens wapm’ g d sehgy Gemaer_rt,
V.  senegs apey sul L Guwens wips Baafignd saps danan_ni.

Pasdiios:
(A ol B sflumang @) I wl @ sflwnengy
(C) T o ub o wmargy M IV o fb sfurmg

87. New Generation |CBM was successfully test fired in August 2012 by

(A) Russia }{ China (C) Cuba (D} Canada

2012 gymeinged Seneumib prH yfu geaopag ICBM eu Gapflanors CangenaGum s 1h Gaigsy

(A} yeyum (B) esam C) dyur D) &ar_n
CEGK 01 32 &
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88 The first monorail in India was sent on trail between

89,

91.

(A) Versova and Chembur Chembur and Wagwa
(C) Vadodara and Juhuy (I} Versova and Vadodara

@ phhinellan apga CuorCarm@oud,. urmsdida Bawdlm B misgrida udi Jegdsn’ gy
(A)  QaiCamaum npmb Qebyyf (B)  Gabyf o e desm

(C)  wGgrgom whmod groans D) dadCeren whmb aCsrsmm

The low cost “Tablet’ that was unveiled by the UN Secretary General Ban-ki-moon is
(A) Adhar 1 /B/ Aakash 2 (C) Aaryal (D) Aasish 2
£ b0 Gurgé Geuet und aper eursarTar Spng &L UL wealey silere L'
(A e 1 (B) maray? (C) ginurl (D) myaley?
‘Chandrashekhara Kambara' has recently been awarded ‘The Gnanpith award' for his
contributions to
{A) Telugu hiterature | /CB( Kannada literature
(C) Malayalam hterature (D) Tamil hterature
siluidieh st frGosy mbum aeLaEss Sranie g, sumen G alosdds ulsafiindpars
anplis UL ([Hererg
(A)  Qagurie Faddun (B) asnam_ Faddub
C)  weewune Fosdhun (D) adyp Gasdunn
Identify the personahty using the statements below :
I.  She is a recipient of 2012 Arjuna award
[1. She is the first Indian woman squash player to enter the top 10 in world rankings in
December 2012
(A) Mary KEom's {B) Joshna Chinnappa
/gqf Dipika Pallikal (D) P.V.Sindhu
33 CEGK 01
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92

dlanaumid Sappsmers uwdufid puay samBics.
[ 2012 mgewmq panan suitggeenn abimg Qevanp Guiamoef]

IL  gsbun 2012, eoas sTiu gudid ‘pad L0 G gosa papss e Bhdu avgaunds

eilenenur_ () elyrisaean
(A) Giofl Gampbay (B) Garsuenn Semsmuur
(C) SSan Lanaflsd (D) 9. fgg

The organization that has won the Nobel peace prize for 2012 is
(A) ASEAN }v( EU (€ EAS (D) SAARC

2012 s pawgpara Gerud sewd ullfeen dupdmasnd Bpeenn
(A) ASEAN (B) EU (C} EAS (D) SAARC

93. India's first Grandmaster Viswanathan Anand won the 2012 - World Chess Championship
against
(A) Pavel Maletin /QJ/ Boris Gelfand
(C) Anna Muzychuk (D) Veselin Topalov
2012psren ses Qsaw smbiuen Ll e Qaumas afirs deoun, Gidundda opad
“gwan” wreoL ', elldveprgan Saps Qasammi
(A ved Qg (B) Gunfis Ggge."Liam_
(C)  memen npélsd D) Qeusdlidn GLmuemE:
94. Which of the following pairs is wrongly matched?
(A) 20 Rajiv Gandhi National Sadbhavana - = D.R. Mehta
(B) Sahitya Akademi Awards 2012 - Subrata Mukhopadhyaya
{C) Indira Gandhi prize for Peace,
Dsarmament and Development 2010 -~ Luiz Inaicoluladasilva
/af Borlaug Award 2012 —  Jeet Thayil
CEGK 01 34 A
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£Cyp QarRasiu_Hare Paarselio o saupneag?

(A)  20eum mrades anpd Cafhu snguraann - DR Cuoggn
(B) awgdgwun mam 8 efimg (2012) - SUPHEST apEGam LT
(€ Caflu pmuwaiund @pfr smhd Coflu |
fAms 2010 - g Blemw Cen gran L Adaur
(D} Gumpens Amg 2012 - désund

Read the following informations.

.  Laura Dekker is the voungest sailor over to sail around the world solo

II. Actress Meryl Streep bag best aciress of Oscar awards — 2012

I1I.  Actor Jean Dujardian won best actor of Oscar awards — 2012

Which of the statements is correct?

(A) landll (B) landIll }GJ/I.IIandII] (D) 1 and III

Episar. fapesma saueflisad.

L emn Qudar erdanp Quesn, s_dle gafluns e wens spflu s Heerw Quan syamr

IL  Apps peesssran syeust ablmeng (2012) Cuoifie avg R0 upri.

M. Apps pesmasne 2012 b e v dmeas den grumig ér Quppm,

Beundle arg sfwmang?

(A Twpma 1 (B) lwppw I (C) 1, 11 wpged 111 (D) 1 wpgys 1T

The Indian Institute of toxicology research recently reported that the water in and around the
union carbide plant is contaminated and not fit for consumption. This carbide plant is located
at

(A) Jaipur /m/ Bhopal (C) Pune (D) Bhubaneswar

gl EMT@UL 4@ DDED Sigmas spfluyde fi wise ppomy ceaun sgaa G biras
sms sEBuppy daayh BEdu péE L miey Bpauen sareude sisas dijgaay Qb
SMIHUL S SenohgiaTar G

(A) Qg (B) Cumwrd (0 ylen M yuCerageul
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97. Which of the following statements about 'RAJIV GANDHI KHEL AWARIY recipient for the

vear 2012 are TRUE?

. Vyay Kumar and Yogeshwar Datt

1. Deepika Kumanr and Laishram Bombayla Dew:

1L J.8 Bhatia and Bhawani Mukherjee

,(ﬂ/ I alone True

() I alone True

(B)
(D)

I1 alone True

IT and 111 are True

2012 b sy panen Forgfes snpd Cash eflmgy Quppeat Agriuren Searaumb appasaild aaa

sl wrsmensy 7

L diguguoni opgbd Curlsdveui L
I BSsrguwrfl whgnb eadgms umbGuGa Ggell

M. Cg.eev. umgur whged veane (psigl

A ol @b s

(C) [ (b &

(a) Produced by

(b) Directed by
(e} Screenplay by
(d} Cinematography by

The best match is

(a)

(A) 4
(B) 3
(C) 1

o

CEGK 01

(b)

2

4

(d)
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(B)

[ od P &)

D) I wpgib L1 &A

L

2
3.

=

With reference to “Slumdog Millionaire”, the best pacture, match the following :

Simon Beaufoy
Christian Colson
Anthony Dod Mantle
Danny Boyle
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dpps Sequoiwrer “AobLré Badluei™ upflu dlaugsmer &l Lrs HuTmHELS.
(a)  wmfliy 1. evswndn S Gund
(b) @Euwésn 2 Afldvgwen ez
(c) pewssas 3. spCamenfl _m wramee
(d) geaflnda 4 urefl umBe
silwrs Quampfy allar -
(a) (b) (e) (d)
A) 1
B) 3
() 1
2

2
4
4
(D) 1

1 3
1 2
2 3
1 3

In India, rain forests are found in
(A) Northern Western Himalayas

‘,..{-BT" Northern Eastern Himalayas and Western Ghats

100,

(C) Eastern Ghats
(D) Central India

Bpfurelia nenpsanHaa o arar @ b

(A)  an &g CuodE aflwreowb

(B)  an Cupe afuraws wpgn SuheEs sLpserCumn
(C)  dipama sipaargCurma

D) wpdhu Gpgur

Fill in the blanks :

The Dadasaheb Phalke Award is conferred to at the 59 National Film
Awards 2012,

(A) Girish Kulkarm (B} Vidva Balan

/E}" Soumitra Chatterjee (D) Nomne of these

Gamg L dlgas Broys

S9aug Caflu Sepiu dmmsdr 201240, grgn sndl's LuraCs ey ——— 4@ eflisiu’ g
(A Aifey miatel (B)  shlguin Limae

(C)  sanBgfon sm 1 ig] M) s cgayn Gama
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Read the following instructions carefully before you begin to answer the questions.
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IMPORTANT INSTRUCTIONS

This Booklet has a cover (this page) which should not be opened till the innigilator gives zsignal to open
it at the commencement of the examination. As soon as the signal is received you should tear the nght
side of the baoklet cover carefully to open the booklet. Then proceed to answer the questions.
This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are
requested to check whether all the guestions are there and ensure there are no blank pages in the
question booklet.
Answer all questions. All questions carry equal marks.
You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.
An Answer Sheet will be supplied to you separately by the [nvigilator to mark the answers. You must
write your Name, Register No., Question Booklet Sl. No. and other particulars with Blue or Black Ball
point pen on side 2 of the Answer Sheet provided, failing which your Answer Sheet will not be
evaluated.
You will also encode your Register Number, Subject Code. Question Booklet S1. No. ete. with Blue or
Black ink Ball point pen in the space provided on the mde 2 of the Answer Sheet. [f you do not encode
properly or fail to encode the above information, your Answer Sheet will not be evaluated.
Each question comprises four responses (A), (B), (C), and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.
In the Answer Sheet there are four brackets [A] [B] [C] and [D] against each question. To answer the
questions you are t0 mark with Ball point pen ONLY ONE bracket of your choice for each question.
Belect one response for each question in the Question Booklet and mark in the Answer Sheet. [f you
mark more than one answer for one question, the answer will be treated as wrong. e.g. If for any item,
|B] is the correct answer, you have to mark as follows :

(A] 1N (€] [
You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during examination.
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The sheet last page of the Question Booklet can be used for Rough Work.

Failure to comply with any of the above instructions will render you liable te such action or penalty as
the Commission may decide at their discretion.

In cases of doubt. the English Version is final.

Do not tick-mark or mark the answers in the Question booklst,
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